
20 13 V~ob 1 00MO~b 13:00 bO)-'bO bo'b(Y)00<:g(Y)00M030 B<)V800~ob (Y)«3oboo CJ(Y)bo03ob 68) ooOBoMo)o 

boB0'0M30(Y) boo,J(Y)b bb<:g(Y)Bo. bb<:g(Y)Bob ObVMoo(Y)<:go boo,J(Y)b 8 V03MO: ~0305 oobO~ooO, <:g0300) 

J05<:g0~oJo, 'bo'bo J(y)M050)0~0, 030)05<:g0~ 050)000, OB'boM o(Y)o'00oO, 5000~00 <:g30~0, OJo 

Bo'bBoo30~0, BoB'0Jo <(3oR'00030~0. bb<:g(Y)Bob oM ObVMoo(Y)<:g505: 'b'0MoO <:g030O)oo30~0, 00(y)MOO 

BO~ooO, OOJ'0M b'0~oJo'0MO, (Y)O)oM J(Y)00MOOO <:go 505(Y) <:g050~00. Bo'0V800~(Y)00b oOboboo 

bodo(0)30~(Y)b J05(Y)50b 28 B'0b~ob I 0'05doob 0)050bBo<:g, boo,J(Y) '0«3~oooB(Y)bo~o 08(Y), ooOBoMo)o 

bb<:g(Y)Bo. 

boB0'0M30(Y) boo,J(Y)b bb<:g(Y)Bob, boo,J(Y)b 0)03BX<:g(Y)BoMO ~0305 oobO~ooO '00C?300(Y)<:g0, bb<:g(Y)Bo'bO 
Bo'0V800~ob 0050Mo~'0MO <:goModo(y)MOb B(Y)3o~0(Y)00b oOBbM'0~OOO~o 00(y)MOO oodMoOo 
oOB(Y)3o<:g0, Bo'0V8000~oO BoB<:g050MO boJoO)booob oOboboo BbXO~(Y)oo, JoO)b3o-00b'0bob MOtJoB'OO 
ooOBoMO)o. 

boo,J(Y)b 0)03BX<:g(Y)BoMOB bb<:g(Y)Bo <:gob'0M'0~o<:g 14:00 booO)'bO ooB(Y)oGbo<:go, oOB<:gOoo bb<:g(Y)Bob 

O)oMOC?O, <:gM(y) <:go <:gC?ob VObMOOO boo,J(Y)b V03Moob <:goBoOOooO) OG5(Y)000). 


